GRAPHS OF POLYNOMIALS GCSE

[ESTIMATED TIME: 50 minutes]
(+ IGCSE) EXAM QUESTION PRACTICE

1. [4 marks]
(a) Complete the table of values for y=x*—4x+2
X -1 0 1 2 3 4 5
y 2 -2 -1

(b) On the grid, draw the graph of y = x?> — 4x + 2 for all values of x from —1 to 5
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Contains questions which have been reproduced with the kind Questions compiled by:
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[4 marks]

(a) Complete the table of values for y=x>—2

(2)
(b) On the grid, draw the graph of y=x*—2
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[4 marks]

For y=x’—6x*+ 20

(a) (i) show thaty =4 when x =2

(i1) complete the table of values

y 20 15

—12

20

(b) On the grid, draw the graph of y = x*— 6x? + 20 for values of x from —1 to 6
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[4 marks]

(a) Complete the table of values for y = x* — 3x> + 12

b) On the grid, draw the graph of y = x3 — 3x? + 12
( g graph of y
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[4 marks]

(a) Complete the table of values for y = x’ _3

X

0.5

1.5

=5.75

24.4

(b) On the grid, draw the graph of y = x _3for0s <x<5
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[4 marks]

(a) Complete the table of values for y=x-+ Lz
X

2

1
(b) On the grid, draw the graph of y =x+— for0.5 <x <5
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[4 marks]

X

3

1
(a) Complete the table of values for y = E(x + -

1.5

3.25

3.125

3.4

(b) Draw the graph of y = %(x + 2) for values of x from 1 to 6
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[4 marks]

(a) Complete the table of values for y =x>—3x*+2

X -2 -1

(b) On the grid, draw the graph of y =x*—3x*+2
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[4 marks]

(a) Complete the table of values for y =x +g
x

X 02 | 04 | 06 | 0.8 1 1.5 2 3 4 5

y 10.2 3.9 3 2.8 3.7 52

2)

(b) On the grid, draw the graph of y =x+ 2 for 0.2<x<5
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10.

[3 marks]

Here are some graphs.

A B C
VA VA V4
—_— » > >
19) X 19) X 0 X
D E F
) A VA VA
19) X 19) X 9] X
G H I
VA YA VA
19) X 0 X 19) X

In the table below, match each equation with the letter of its graph.

Equation Graph
y =sinx
y =x+4x
y=2
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11.

[5 marks]

(a) Complete the table of values for y=x*— 4x +2

y 14 2

(b) On the grid, draw the graph of y = x> — 4x + 2 for values of x from —2 to 5
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The point P (k, 4) where k£ > 0 lies on the graph of y = x> — 4x + 2

(c) Use your graph to find an estimate for the value of £.
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12. [5 marks]

2
(a) Complete the table of values for y = x* + =
X

X 0.1 0.2 0.5 1 1.5 2 3 4

y | 20.01 | 10.04 3 3.58 5 9.67

(b) On the grid, draw the graph of y = x* + 2 for0.1 <x <4
X
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(c) Use your graph to find estimates for the solutions of x* + 2 =14
X

in the interval 0.1 < x < 4

Give your estimates correct to 1 decimal place.



